RESOLUTION OF THE WHITE MOUNTAIN APACHE TRIBE OF THE FORT APACHE INDIAN RESERVATION

- WHEREAS, Councilman Johnny Endfield advises the Tribal Council that the Headstart Program has applied for additional funding to serve approximately 256 children on the Fort Apache Indian Reservation; and
- WHEREAS, the additional funding will accommodate 20 or more children in the McNary Headstart Program; and
- WHEREAS, the Headstart Program is requesting assistance from the Tribe as part of the in-kind contribution to renovate the Headstart building in McNary; and
- WHEREAS, the necessary repairs are estimated to be \$15,183.95, as set forth in the itemization of repair costs attached to this resolution; and
- WHEREAS, the Tribal Council endorses the Headstart Program and concludes that money should be allocated to repair the McNary Headstart Building.
- BE IT RESOLVED by the Tribal Council of the White Mountain Apache Tribe that it hereby authorizes the Office of the Tribal Chairman to allocate funds in the amount of \$15,183.95 to repair and renovate the McNary Headstart Building.
- BE IT FURTHER RESOLVED by the Tribal Council that it hereby approves any budget modification necessary to carry out the terms of this resolution.

The foregoing resolution was on <u>July 14, 1993</u>, duly adopted by a vote of <u>seven</u> for and <u>zero</u> against by the Tribal Council of the White Mountain Apache Tribe, pursuant to authority vested in it by Article V, Section 1 (i) of the Amended Constitution and Bylaws of the Tribe, ratified by the Tribe June 27, 1958, and approved by the Secretary of the Interior on May 29, 1958, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).

(Acting)

Chairman of the Tribal Council

rub (ha dha

Secretary of the Tribal Council

JUL 2 1 1833

FORT APACHE INDIAN AGENT

Material Estimate for Headstart Building, McNary

ROOF					
Drip Edge	. 20	Sticks	1.10	ea	22.00
Roof Boards 1x12	10	Boards	9.95	ea	99.50
Facia Boards 2x4x16	6	Boards	4.97	ea	29.82
3 Tab Shingles	30	Squares	26.60	ea	798.00
#15 Felt Paper	7	Rolls	9.15	ea	64.05
Roofing Nails	2	Boxes	36.40	ea	72.80
Staples	3	Boxes	2.75	ea	8.25
Ceiling Insulation R-19	15	Rolls	19.08	ea	286.20
INTERIOR			,		
Sheet Rock Green Board	6	Boards	5.06	ea	30.36
Sheet Rock 4x8x1/2	40	Sheets	2.67	ea	106.80
Insulation R-11	8	Rolls	14.15	ea	113.20
Baseboard	200	Lin Ft	.87	per ft.	174.00
Paint-White Interior	5-6	gal. buc	c. 59.99	per gal	. 359.94
EXTERIOR					
Paint-White Trim	15	gallons	49.95 e	ea/5g	149.85
Paint-Blue Exterior	30	gallons	18.25 p	er gal.	547.50
Repair Windows	6		25.00 €	ea	150.00
<u>FLOORS</u>					
33.40 1 1/8 to 1 1/4 Plywood	8	Sheets	33.40 ea	a	267.20
1/2 Particle Board	50	Sheets	6.00 ea	a.	300.00
			Page 1-Tota	al	3,579.47

Materials Estimate Headstart Building, McNary Page 2

FLOORS

Box 1 1/4 to 1 1/2 Ring Shank	1 Box	50.00 ea	50.00
Floor Tile	35 Boxes	35.00 ea	1225.00
Tile Adhesive	8 gallons	13.49 ea	107.92
ELECTRICAL			
100 Amp Service	1	140.00 ea	140.00
2 Hub	1	5.50 ea	5.50
2 Riser 10'	1	15.00 ea	15.00
2 Weather Head	1	8.00 ea	8.00
#2 THHN	20'	20.00 ea	20.00
#4 THHN	10'	5.00 ea	5.00
Smoke Detector Battery	7	12.12 ea	84.84
PLUMBING			
Kids Toilets	2	154.68 ea	309.36
40 gal-Hot Water Heater	1	228.03 e a	228.03
3/4 Black gas line	10'	5.20 e a	5.20
1/2 Black gas line	10'	4.00 ea	4.00
6" Black Nipples	4	.95 e a	3.80
1/2x3/4x1/2 Black Tee	1	.85 ea	.85
2 1/2 Black 90	2	.45 ea	.90
1/2x1/2x1/2 Tee	2	.58 ea	1.16
1/2 Black Caps	2	.46 ea	.92
Angle Stops	10	2.00 ea	20.00
		Page 2-Total	2,235.48

Materials Estimate Headstart Building, McNary Page 3

PLUMBING CONT.

Water Supply Tubes	10	1.73 ea	17.30
Misc Copper Fittings	1	10.00 ea	10.00
Solder	1 Roll	7.59 ea	7.59
Gas Tank	1	3.52 ea	3.52
Flux	1	5.05 ea	5.05
Closet Flanges & Wax R.	ings 2	2.87 ea & 2.00 ea	9.74
Hot Water heater supply & vent	1	50.00 ea	50.00
PORCHES FRONT & BACK			
4x4 Redwood 10	7	11.90 ea	83.30
Wet Post Basins	5	3.43 ea	17.50
FHA Straps 9	6	.73 ea	4.38
Pre Mixed Concrete	10 Bags	2.10 ea	21.00
2x8x10 Douglas Fir	3	4.88 e a	14.64
2x8x8 Douglas Fir	15	3.40 ea	51.00
2x12x8 Douglas Fir	6	7.92 e a	47.52
2x4x16	20	4.97 ea	99.40
2x6x10	15	4.45 ea	66.75
2x6x8	17	3.52 ea	59.84
2x6x12	7	5.28 ea	36.96
2x6 Joist Hangers	8	.40 ea	3.20
2x8 Joist Hangers	8	.40 ea	3.20
Teco Nails	10 lbs.		7.30
		Page 3-Total	619.19

Material Estimate Headstart Building, McNary Page 4

PORCHES CONT.					
1/2 4x8 OSB	. 8	Sheets	11.09	ea	88.72
Post to Beam Ties	5		2.75	ea	13.75
ROOM ADDITION					
#4 Rebar	100	Ft.	3.30	per	20' 16.50
8x8x16 Cinder Blocks	56		.75	ea	42.00
Back hoe to dig Footer	\$ 75	.00 per	hour/2 hrs.		150.00
Concrete	7	Yards	60.00	per	yd. 420.00
Cement Mixer Rental	2	days	35.00	per	day 70.00
Sand	1/2	Ton	10.00		10.00
Concrete	15	bags	6.00	ea	90.00
2x6x10 green board	2		6.50	ea	13.00
2x6x16 green board	1		8.85	e a	8.85
2x8x16 Douglas Fir	2		14.75	ea	29.50
2x8x10 Douglas Fir	9		4.88	ea	43.92
Corner Joist Hangers	2		.25	ea	.50
2x8 Joist Hangers	8		.40	ea	3.20
3/4 T&G Plywood	6		20.17	ea	121.02
2x4x8	60		2.49	ea	149.40
2x4x16	10		4.97	ea	49.70
2x10 or 12x14 Douglas Fir	1		19.60	ea	19.60
2x6x12 Douglas Fir	12		7.55	ea	90.60
2x6x16 Douglas Fir	10		6.74	ea	67.40
7/16 Masonite Siding	12		16.32	ea	195.84

Page 4-Total 1,693.50

Material Estimate Headstart Building, McNary Page 5

1/2 OSB	12		11.09	ea	133.08
4 x 4 Window	2		57.16	ea	114.32
Gable Vent	1		8.19	ea	8.19
Sheet Rock	16 Sh	eets	2.67	ea	42.72
Sheet Rock Nails	1 Bo	×	38.53	ea	38.53
Tape	2 Ro	lls	3.98	ea	7.96
Joint Compound	8 Bo	xes	5.81	ea	46.48
Lights 4' Florescent	4		33.70	ea	134.80
Switches	1		.59	ea	.59
Recepticles	6		.45	ea	2.70
12-2 W/Ground	1 Bc	×	32.50	ea	32.50
16 D Framing Nails	1 Bc	x	22.00	ea	22.00
8 Galvanized	1 Bc	×	34.87	ea	34.87
Floor Tile	4 Bo	xes	35.00	ea	140.00
Tile Adhesive	2 Ga	llons	13.49	ea	26.98
3 x 6-8 Hollow Core Door	1 Pr	re Hung	52.00	ea	52.00
Base Board & Door Casing	60		.87	per ft.	52.20
Sandpaper	30		.37	ea	11.10
CHAIN LINK FENCE					
Sterling Fence Co.			3204.29		3204.29
*FORCED AIR FURNACE					
Gardner, Refrig & Heating			2600.00		2600.00
GENERATOR RENTAL					
Generator	1 mo	nth use	350.00		350.00
		Page	e 5-Total	L	7,055.31

Material Estimate Headstart Building, McNary Page 6

Grand Total	\$15,182.95
Page 5-Total	7,055.37
Page 4-Total	1,693.50
Page 3-Total	619.19
Page 2-Total	2,235.48
Page 1-Total	3,579.47

^{*}Forced Air Furnace may cost more, if the Tribe is unable to purchase the unit and install it. According to Navajo County Codes, Vendors cannot sell units to anyone who is not licensed to install the units.